


№ 533 Решите уравнение:

а)  10 · 8х = 2 · (– 16) · 5
10 · 8 10 · 8

х = – 2 

Ответ: – 2 

б)  18 · (– х) · (– 5) = 45 · (– 3) 
18 · (– 5) 18 · (– 5)

5

2
– х = 1,5 

х = – 1,5 

Ответ:  – 1,5 



№ 533 Решите уравнение:

в)  – 15 · (– 13х) = – 26 · (– 30) 
– 15 · (– 13) – 15 · (– 13)

2

1

2

1х = 4 

Ответ:  4 

г)  – 36 · 7х = 4 · (– 63) 
– 36 · 7 – 36 · 7

7

4

х = 1 

Ответ:  1 
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№ 539 Вычислите:
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№ 540 Вычислите:

1

6
4



№ 540 Вычислите:

29

1

1

8
9 8



№ 540 Вычислите:

3

1
3

4

1

10

1

– 40

= – 37 



*

К л а с с н а я    р а б о т а.



(х – 3) + 2 =

–  (х – 3) + 2 =

– 15 +  (– 6 + у) =

– 15 –  (– 6 + у) =

1 х – 3 + 2 = х – 1

1 – х + 3 + 2 = – х + 5

1 – 15 – 6 + у = – 21 + у 

1 – 15 + 6 – у = – 9 – у 



– 8 + b 

– х + 4 

9 – а 

– у – 12 

5 + m 

– n – 3 

1 – с 

d – 7 



1 · а = (– 1) · а =
а · 1 = а · (– 1) =

а 

а 
– а
– а



4 – 9 + b = – 5 + b 
7 – х + 7 = 14 – х 

– 3 + 5 – у = 2 – у 
6 – d – 8 = – d – 2 
7 + 1 + g = 8 + g 
3 – k – 3 = – k 
12 + 5 – е = 17 – е
31 + f – 70 = f – 39 



Правила раскрытия скобок (стр. 120)





3 – 2у – 7х – 5 =

= – 2у – 7х – 2

= – 2х – 9 + 7х + 5 = 5х – 4



= – 4а + 8 – 10 + 7b = – 4а + 7b – 2 

= – 7b + 1 + 5 + 3a = – 7b + 3a + 6



У:   № 528; 530; 531; 
541(б);  544(а,б).



Раскрытие скобок



Раскройте скобки:

1 2 · (5 – y) =

2 –4 · (15 + х) =

3 3 · (a – 8) =

1 –3 · (9 – y) =

2 5 · (–12 – х) =

3 –9 · (a + 7) =



Раскройте скобки:

4 –9 · (–5 – b) =

5 – (8 – c) =

6 – (– n – 5) =

4 –5 · (–8 – b) =

5 – (– c + 12) =

6 – (7 + n) =



Раскройте скобки:

1 2 · (5 – y) =

2 –4 · (15 + х) =

= –60 – 4х

= 10 – 2y

3 3 · (a – 8) =

= 3a – 24

1 –3 · (9 – y) =

2 5 · (–12 – х) =

= –60 – 5х

= –27 + 3y

3 –9 · (a + 7) =

= –9a – 63



Раскройте скобки:

4 –9 · (–5 – b) =

5 – (8 – c) =

= –8 + c

= 45 + 9b

6 – (– n – 5) =

= n + 5

4 –5 · (–8 – b) =

5 – (– c + 12) =

= c – 12

= 40 + 5b

6 – (7 + n) =

= –7 – n


